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1 Introduction

In the last SQ Telco on 2016-10-04 an interruption time measurement over handover was asked to be considered. This document describes a possible test method.

2 Test method
The test signal is a continuously looped CSS signal, consisting of a voiced signal and a PN sequence, both according to ITU-T P.501 section 7.2.1.1, without pause. This signal provides a periodically recurring voiced signal to keep the voice activity detector activated. The bandwidth of the signal may be adapted to the codec bandwidth, or a narrowband signal may be used for all codec bandwidths. The peak to active speech level of this narrowband signal is about 8 dB (GapTestSignal_NB.wav attached). The test signal level should be -16 dBm0 on the network side.

The measurement is based on peak detection. The signal is analyzed in time intervals of at least 1.39583 ms corresponding to 67 samples or a half period of the voiced activation signal part in the CSS (in a 48 kHz sampling system). The analysis result for each time interval is the maximum absolute value of all sample values within this time interval. These maximum absolute values are evaluated on a time axis as shown in the figure below. The time value for each maximum absolute value is the start time of the respective analysis time interval. 

The start time of the gap is the lowest time value within the acquisition interval, for which the maximum absolute value falls below a predefined threshold, e.g. -34 dBov (see next section). The end time of the gap is the highest time value within the acquisition interval, for which the maximum absolute value falls below this predefined threshold. The interruption time is the difference between the end time of the gap and the start time of the gap.

3 Example
For this example the signal peak level was set to 1 V. The threshold was chosen to be 20 dB below signal peak, corresponding to 100 mV. 
In a real measurement environment, with an active speech level set to -16 dBm0, the 
signal peak would be at -16 dB + 8 dB - 6.14 dB = -14 dB relative to 0 dBov. The threshold would then be -34 dBov.
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